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Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927337
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459275657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. Devotion
2. Devilish
3. Develing
g Devested
E. Devealop

Options:

1. % 32451
2. % 25241
3. % 3$5412
4 ¥ 25421

Question Number : 1 Question Id : 5459275657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TrafeTET deaf ot degwte § o7 o0 #7 & SRfaR ford

1. Devotion
2. Devilish
= Devaling
4 Devested
E. Devealop

Options:

1. % 32451
2. % 25241
3. % 3$5412
4 ¥ 25421

Question Number : 2 Question Id : 5459275658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term wrong. Select that wrong term from the given alternatives.

E110, G132 1153 K181, M228
Options:

1. % E110

2. % G132

= % 1159

4 ¥ K181



Question Number : 2 Question Id : 5459275658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S e T g, e & U ug e 31 Tew my fdwedt § & 39 e ug @ g

E110, G132 1159 K181, M228
Options:

1. % E110

2. % 5132

= % 1159

4 ¥ K181

Question Number : 3 Question Id : 5459275659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& series 15 given with ore terml missing. select the correct alternative from the given ones that will complete the

Series.

EF, JE, OF, T, ?
Options:

1. % Wx

2. % XY

3% AR

4. ¥ Y7

Question Number : 3 Question Id : 5459275659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e gy To v g, ForeH | v ug g 8 fau my et f | oy @gt dwew giag, ST e @i

EF, JK, OF, T, ?
Options:
1. % Wx
2. % WY
2% AR
4 ¥ Y7

Question Number : 4 Question Id : 5459275660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. #® Triangle
2. % Square
2. ¥ Figure

4. % Hexagon

Question Number : 4 Question Id : 5459275660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



gt wa & fuy o Rt & @ R e 7 i
Options:

1. % e

o % o

3. ¥ g

4, ® grg

Question Number : 5 Question Id : 5459275661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letter pairs are given. The letters on left side of (-) is related to the letters on the
right side of (-) with some Logic |Rule|Relation. Three are sirrilar on basis of same Logic/Rule [Relation. Select
the odd one out from the given alternatives.

Options:

1. % TP-EN
2. % J5-HC
2% LM-JK
4 ¥ AT-ZR

Question Number : 5 Question Id : 5459275661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Ta T ey, T SrgR g T MY () o STt S e T A () a%azﬁaﬁvﬁﬁﬂﬁrmmﬁﬁﬂﬁa?ﬁﬁamm@r
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Options:

1. ® TP-EN
2. % ]J5-HC
2% LM-JK
4 ¥ AT-ZR

Question Number : 6 Question Id : 5459275662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word pair from the given alternatives.

Options:

1. % Guns : Armoury

2. % Medicine : Dispensary
2. % Patient : Hospital

4 9 Garage : Car

Question Number : 6 Question Id : 5459275662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trafetas na # fou 7y eedt # & fouw seg gm @1 g
Options:

1. % gigeh : e

R B | 1

3 % Tl eI

4. TCr ; B



Question Number : 7 Question Id : 5459275663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. QW

2 OV

3 PW

4 PV

Question Number : 7 Question Id : 5459275663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tow Ty ferpeut # & 39 femew @1 o S d 6 U | I8 W § Fared 5 R W e 0 U o Herid 5

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1 QW

2 Qv

3 PW

4 PV

Question Number : 8 Question Id : 5459275664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Lion

2. Eird

. Horse

4. Elephant

Question Number : 8 Question Id : 5459275664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tew Ty et # 9 39 foded #1291 S 0 ¥ IE HRT @ ellad g T GEe ug Uy o Wered &

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. g

2 et

= =T

4, gredt

Question Number : 9 Question Id : 5459275665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third term in the same way as the second term is related to the first term.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Plough

2. Aye

3 Harmmrmer

4. spade

Question Number : 9 Question Id : 5459275665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tow Ty ferpeut # & 39 femew @1 o S d 6 U | I8 W § Fared 5 R W e 0 U o Herid 5

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1 5

2. Foglet

3. geiET

4 gt

Question Number : 10 Question Id : 5459275666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘TEST' is written as ‘60, "CLUE' is written as '34'. What is the code for 'REST” in
that code language?

Options:
1. % B0
2. % 5B
3. ¥ ER
4 % 52

Question Number : 10 Question Id : 5459275666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AtE W W # CTEST' @1 60" fear AT &, ‘CLUE &1 ‘34 6T 997 31 59 Fis 99T H ‘REST &1 IS F47 57
Options:

1. % &0

2 % ER

3. ¥ ER

4. % EZ

Question Number : 11 Question Id : 5459275667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'PHREASE' is writter1 as ‘RFTYUC. What is the code for “TAELE’ in that code
language?

Options:

1. % UYDJE

2. % VYDJF



3. ¥ VYD]G
4. % V]G

Question Number : 11 Question Id : 5459275667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T fatde Wi v #, PHRASE &1 'RFTYUC {oRaT 91aT 31 56 ®iE 9T H ‘TAELE' &7 ®1g 47 57

Options:

1. % UYDJE
2. % VYD]JF
2.V VYD]G
4. % VY]DG

Question Number : 12 Question Id : 5459275668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'RED is called "WooDy, "WooLy 15 called ‘'EREAD, 'EREAD is called 'PLASTIC,
PLASTIC 15 called 'MILKS, "MILK' i5 called "WHITE". What do we eat?

Options:

1. ¥ PLASTIC
2. % MILK
2% WooD
4. % WHITE

Question Number : 12 Question Id : 5459275668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TT3E B AT H, TR BT OARSl BT AWy, FRer Bl T TRy, Tl B THAICCE FET AW 5, THICed B g
TEI AT 5, G A Fg1 T 51 5 F4T GG 57

Options:

1. ¢ AT

2 ® gy
3. % wwar

4 ® gog

Question Number : 13 Question Id : 5459275669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six teachers P, Q, R, 5, T, and U are sitting around a circular table facing towards the centre. T is to the
immediate left of 5. Only R is between P and Q. Cnly U is between P and T. Who is second to the left of B?

Options:
1. %10
2. %0
3.9 3
4 % T

Question Number : 13 Question Id : 5459275669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. %10
2. % Q
R
4 % T

Question Number : 14 Question Id : 5459275670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& person has five dumbbells L, M, N, ©, and P of different weights. O weighs twice as much as M. M weights
two and a half time as rmuch as M. L weighs twice as much as M. P weighs less than L but more than M. ©
weighs half as much as F. Which of the following is lightest in weight?

Options:
1. %L
2. % M
VN
4 % 0O

Question Number : 14 Question Id : 5459275670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e e o UTE Ty R & O Sra L, M, N, O, R P 81 O %1 YR I &7 g AT EM T AT I T B2 AT 21 L T AR M T
W%PWWLﬁw%ﬁﬁmNﬁaﬁfﬁ%omwme%ﬁﬂﬁﬁﬁ T AT AT H Tad 5ol 57

Options:
1. %L
2 % M
AL V|
4 % O

Question Number : 15 Question Id : 5459275671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six people F, O, R, 5, T, and U are sitting in a row facing towards north (Mot necessarily in the same order).
Only P is sitting between O and R, O is sitting next to 5. 5 is sitting next to T. T is sitting on the extreme left.
Who are sitting adjacent o R?

Options:

1. % SandU
2. % Tands
2 ¥ FPandU

4 % SandF

Question Number : 15 Question Id : 5459275671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T P, R, S, Tmumfﬁaﬁrﬂawwwﬁﬁﬁ%%mﬁqﬁfﬁﬁrwﬁ@mQaﬁrﬁanﬁaﬁmpamaq
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Options:
1. % safwu



o % T aws
S V¥ Paivly
4 ® 5 afwPp

Question Number : 16 Question Id : 5459275672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five people are sitting on five different steps of a staircase. Heena is sitting above Esha and Mohit is sitting
below Sheena. Esha is sitting above Sheena and Dhruy is sitting below Mohit, Which of the following statemernt
is Ccorrect?

Options:

1. * Esha is between Sheena and Mohit

2. % Heerna is at the bottom

2. ¥ Two people are sitting between Dhruv and Esha

4. % Sheena is at the top

Question Number : 16 Question Id : 5459275672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 20T o T o TeT STelT- 3160 TR0 UE & #1 7, 207 & 3o 941 § sfe Afew, @ TR der @ fam S d s 38 g
S o, Wigd & el o937 81 Eieiad # # @19 |7 e 651 57

Options:

1. % o T qen g F i H 8
2 % oTHad AR g

3. el TT AT W Wed & o o s 8
4, ® ST HEE IO E

Question Number : 17 Question Id : 5459275673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sheena ate only mangoes and apples. Sushila ate all the fruits except grapes. Sharda ate only apples and
bananas. Gauri ate all the fruits except oranges and peaches. Riva ate all the fruits except peaches, grapes and
mangoes. How many girls ate bananas?

Options:

1. % Two

2. % Four

= % Three

4. % Cne

Question Number : 17 Question Id : 5459275673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST = Brelet TH S Sl W GATem = S 1 SIS ekl T Wt G RET = Selel &el M 3ed W T = Ha¢ 6T onng a7
BIZE a1 @l e A T aTg, S o1 STH BT SIg e ATl Tl Wt @0 el Tehd=t s el = =T

Options:
1. % g1
2 ¥ IR
2 & d=
4 % UE



Question Number : 18 Question Id : 5459275674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are giverl some statermnents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:
[. &l tables are chairs.
II. &ll chairs are pens.

COnClusions:
[. Some tablas are pens.
II. All pens are tables.

Options:

1. % Cnly conclusion 1 follow

2. % Only conclusion 1T follow

2. % Both conclusion I and I follow

4. #® Meither conclusion follow

Question Number : 18 Question Id : 5459275674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tem My we | g @ o 3 g, 31 el O AT g ey fou Ty @ fag T @t @t |ny v, EI'I%G'HﬁETH‘ITE‘IH’
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ERIEK

I |l A T3]

I1. &t T FeIH 2]

e

1. TF o TA 31
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Options:

1. & e et 1 argewor aedr g

2 % e Ty 11 SIge aT o

3. % g1 ey | F9T I SgE Fd §
4 % g ot Fwad ergev TRl aar

Question Number : 19 Question Id : 5459275675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Statermnents:

[. All pencils are chairs.
I1. Sorme chairs are tables.
III. Sorme tables are pens.

Zonclusions:

[. Some pens are pendcils.

II. All tables are pencils.

III. All pens are chairs.

Options:

1. # Both conclusion II and [T follow
2. % Both conclusion I and IT follow
2. % Only conclusion I follow

4 % MNeither conclusion follow

Question Number : 19 Question Id : 5459275675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
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Options:

1. % it fermerd 11 a0 L1 ST o &
2 % gt Tmey [ F2T I SgE FWd 5
3. % el TRy 11 SIE ®ar g

4 g ot T argev TRl aar

Question Number : 20 Question Id : 5459275676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the number which can be placed at the sign of question mark (7) from the
given alternatives,

4 5 3 3 5 9
6 |44 il |- 132 7 2
Options:
1. % 120

2. % 160



3. % 100
4. ¥ 30

Question Number : 20 Question Id : 5459275676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEimET wg | oy my Hwedt § & v By (7) & T U S el @t @1 g

4 |5 8| 3 519
6 |44 11112 T ?
Options:
1. % 120
= % 160
3% 100
4 9 320
Merital Ability 2
Group Number : 2
Group Id : 545927282
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Merntal Ability 2
Section Id : 545027282
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 545927338
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459275677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
given alternatives.

2 3 1]
| 6 |202] 5 8 |194) 5 7171 3]
| : 5 — |

Options:
1. % 202

2. % 312
3. % 303
4. ¥ 295

Question Number : 21 Question Id : 5459275677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e wg # o W Tt H 8 war ey (7) o T U ST STet ST

2 3 6

62015‘ |8]9J.5| T 713
7 2 3

Options:

1. % 202

2 % 212

3. % 303

4 9 296

Question Number : 22 Question Id : 5459275678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
givern alternatives.

11 | 7 4
8 6 3
5 3 9

Options:

1. % 144
=z ¥ 256
3. % 289
4. % 196



Question Number : 22 Question Id : 5459275678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeE ng # Ty W Tt 8 we ey (7) S 0T ST e ST @ e

11| 7 A
3 6 3
5 3 9

576 7 | 324

Options:

1. % 144
=z ¥ 256
3. % 289
4. % 196

Question Number : 23 Question Id : 5459275679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number in the same way as the second number is related to the
first number.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 100

2. 90

3 130

4. 170

Question Number : 23 Question Id : 5459275679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tew Ty et # 9 39 femed @1 = A1 e g § JE AR @ Hellad 7 T Rt GEe W uge o Wi 5

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 100

2. 90

2. 130

4. 170

Question Number : 24 Question Id : 5459275680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number in the same way as the second number is related to the
first number.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1121

z 324



> 144
4 1396

Question Number : 24 Question Id : 5459275680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tew Ty et & 9 39 fowed @1 = S e gEar | JE AT Heltad 7 T T GEe HEdT uge o Wt 8

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.121

2 324

3 144

4. 1396

Question Number : 25 Question Id : 5459275681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third number in the same way as the second number is related to the
first number.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. 182285

2, 1898225
2. 176489
4 144121

Question Number : 25 Question Id : 5459275681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tow Ty et # & 39 Tewed @1 = S e Hedr 8 FE AR Hellad § T Wt GEd e Uge o Hered 5

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 182285

2 196225

3. 176489

4 144121

Question Number : 26 Question Id : 5459275682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the givern series.

2,2 10,5, 20, 12, 68, 20, 7
Options:
1.9 120

2. % 170
2% 210
4. % 90



Question Number : 26 Question Id : 5459275682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Toafea weg o 1 e e # 9 oF afw S H
2,2, 10,8, 20,12, 65, 20,7

Options:

1.9 130

2. % 170

2% 210

4. % 90

Question Number : 27 Question Id : 5459275683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

S, 11, 32, 1293, 544, 7
Options:

1. % 2615

2. % 3185

3. ¢ 3865

4 % 3925

Question Number : 27 Question Id : 5459275683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ey # 21 T SfeT H & o S S R
S, 11,32, 123, 644, 7

Options:

1. % 2615

2. % 218G

3. ¥ 38ES

4 % 3925

Question Number : 28 Question Id : 5459275684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If 'F means "=’ "2 means “x', ‘B means '+ and 'S means -, then Z2FER SO 25408 =7
Options:

1. % -(35/2)
2% (3212
3.9 (3112
4. % —(29]2)

Question Number : 28 Question Id : 5459275684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e P owT et s, (O wmranf o, Rowrerf + sy #a - B TS PEREQ254 08 =7
Options:

1. % -(35/2)

o ® -(3312)

3 ¥ -(31]2)

4. ® -(29]2)

Question Number : 29 Question Id : 5459275685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[fA*E=AZ24+BZ2+AE then 3 * 4 +i2*5) =7

Options:
1. % 72
2 ¥ 78
3. % g2
4 % gg

Question Number : 29 Question Id : 5459275685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oA *E=AZ+BE2+ABS T (34 +(2*5) =7

Options:
1. % 72

2. ¥ 76
3. % 382
4. % 96

Question Number : 30 Question Id : 5459275686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Yehicle, Acroplane, Calculator
Options:

QD

(0o




(o

Question Number : 30 Question Id : 5459275686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE T I AT At T T A o S o Here o @Rl HE0T wear o)

ATE, BaT8 A5, FAgiet

Options:

QD

(©)o

@0

3. ¥

Question Number : 31 Question Id : 5459275687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I11 the givern figure, how rmany rural worleers are literate?

| g

i

p AN
Literate W ?\

Workers |

Rural people

Options:
1. % ¢
2. ¥5
3 87
4 ® 2



Question Number : 31 Question Id : 5459275687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I TE ampid | Topa TTHTT S |Ta 27

Options:
1. % 8
2 V5
%7
4 % 2

Question Number : 32 Question Id : 5459275688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rohan walks 10 km towards south. He turns left and walks & k. He again turns left and walks 4 k. He
finally turns right and walks straight. In which direction is he walking now?

Options:

1. % East

2. % wWest
= % DMorth

4. ® South

Question Number : 32 Question Id : 5459275688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

10 T AT, ZTE0 & 31 =IdT 5 9% a1 §2a7 & o 6 or A1 IadT 81 9 e & a2 gedr & 9907 4 TR At aear 81 95 A
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Options:

1 v g
2 ® gEm
3% Y

4 % o

Question Number : 33 Question Id : 5459275689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Sharmila walks 20 metre towards south. Then she walks 30 metres after turning to left. Finally she walks 20
metres after turning to left. How far and in which direction is she now from her starting point?

Options:
1. % B0 metres, Morth-east
Z. % 40 metres, Morth -west

= % 30 metres, East



4. % 30 metres, West

Question Number : 33 Question Id : 5459275689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

STTAT ST T 37 20 Hied amd ! g1 T oy It oK ge- & 91g 30 Hied a1 21 aidd: ag a1 o) G2 % =g 20 Wt oed | g
T oI 310 R Teig  fopa=i1 g ot foper fqam # 27

Options:

1. % SO dley, Fa-1d

2. % 40 fiey, FOe-ukEm

3. ¢ 30 e, O

4. % 30 dier, nlam

Question Number : 34 Question Id : 5459275690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:
@
Yo\e
)
1. %
ee
eloole
5 % '
o 0
S
z vl *
e%e
o
o
oc
4 | *e°®

Question Number : 34 Question Id : 5459275690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Traferiad we | for my fereut #§ & fouw sl w1 giam

Options:
yAX
@




o]
|0 ole
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Question Number : 35 Question Id : 5459275691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questior, select the wrong figure from the given series.

_"?‘i’*‘“?‘i’—v*:’?

gt 1L it | el ] | i
Options:
—I}:}fi.
1%? —
?ﬁ
sx|—= T
e
<
3 ® P -
?D—D'
svl= |

Question Number : 35 Question Id : 5459275691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeTET wa #, SF TRIT SEeT § 9 AT s @ e

_';‘F' 'T‘ﬂ-ﬂ —f’q'i“ I == —GD?

Options:




—DD?
1.%‘.Ij i
—D
0
> ® |2
=5 i
<]
353?‘”

—D
(-

EB —T

4

Question Number : 36 Question Id : 5459275692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which answer figure will complete the pattern in the question figure?

&

-

J

o

\+

s

Question Number : 36 Question Id : 5459275692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

\3

3

2. v

\J

S

Question Number : 37 Question Id : 5459275693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer
fisures, indicate how it will appear when opened?

Options:
— U U

<
° Qo
O

o,
P
L)
o° %o

1 & LTI

o o2

%
o° %
RS

D O
o %
L] £y
a® o




o
o o
& %

Question Number : 37 Question Id : 5459275693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%n‘#rl;ﬂ T I goheT HIST T f (W) T raT & - & S weg smapfa <t § Tomamen m | =i o gohe T |iar S a7 d foarg

Options:

¢¢¢ ¢¢¢

¢¢¢ ¢¢¢

1. ¥

O O
& %

o
PR

G
]

On WO
o° %o
% o

¢¢¢
¢¢¢

& o
o3 o5

Question Number : 38 Question Id : 5459275694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three positions of a dice are given below. What will not corme on the adjacent faces of a face containing ‘@7

Options:
1. * HE
2 % #R

3.V HPF
4 % HT

Question Number : 38 Question Id : 5459275694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. * HE
Z % ER

3.¥HPFP
4 % H T

Question Number : 39 Question Id : 5459275695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany triangles are in the given figure?

Options:
1. % 10
2 ¥ 11
3. % 13
4 % 12

Question Number : 39 Question Id : 5459275695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

ST sl # T g 27

Options:
1. % 10
= W11
3. % 13
4. % 12

Question Number : 40 Question Id : 5459275696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Howr many triangles are in the given figure?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

Question Number : 40 Question Id : 5459275696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

£r Tt g P gt 27

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1.7
2.9
3.8
4 12
eneral Avwarenessl
Group Number : 3
Group Id : 545927283
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Awarenessl

Section Id : 545927283

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 5450927339
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459275697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fulamini Devi Arundale is famous for which form of dance?

Options:

1. #¥ Kathakali

2 ¥ Eharatanatyam
2. % Odissi

4. % Lavani

Question Number : 41 Question Id : 5459275697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SIFAUTT Seit Sreed Jod o e w0 & Ty e 27
Options:

1. ® operdem

2. ¥ e

= ® anfedt

4 % Frauit

Question Number : 42 Question Id : 5459275698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which city is the Gateway of India located?

Options:

1. # Chennai
= ¥ Murrbai
3. % Kolkata

4. % New Delhi

Question Number : 42 Question Id : 5459275698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el ST SiE o At | TR 7



Options:

1. % oge

2 ¥ gag

3. % FiEwET
4. % 2 fawelt

Question Number : 43 Question Id : 5459275699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eonark Sun Temple 15 1n

Options:
1. % Rajasthan

2. % Tarnil Madu
=, ¥ Odisha
4 #* andhra Pradesh

Question Number : 43 Question Id : 5459275699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IO T A Lk
Options:

1. % TRe

2 % FHEE

3. ¥ anifEam

4. % e R

Question Number : 44 Question Id : 5459275700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MMusical instruments have been divided into how rany main categories?

Options:

1. % Two
2. ¥ Four
3. % Sim
4 % Three

Question Number : 44 Question Id : 5459275700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

arita arerEt wf e ge vt § e T mm g7
Options:

1. % g1

2 ¥ Or

3. % gy

4 % F4

Question Number : 45 Question Id : 5459275701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



______ 15 the difference between the government's total expenditure and its total receipts excluding borrowing.
Options:

1. ¥ Fiscal Deficit

= % Capital Expenditure

3. % Capital Receipts

4. % Foreign Reserves

Question Number : 45 Question Id : 5459275701 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ TP o ol o0 1 JEHT T HT FIZHE Food WTET o aifel 7 ST 2l

Options:

1. ¥ TR T
2 % UET e

Z. % gE arieT

4 % REEIgIEEw

Question Number : 46 Question Id : 5459275702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ has been introduced by REI for bank customers for resolution of complaints relating to certain services
renderad by banls.

Options:

1. % Banking Redressal Scherme

Z % Cormplaints Schermne

2. % Banking Ombudsman Scherme

4. # Grievance Redressal Banking Schermne

Question Number : 46 Question Id : 5459275702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ of T BT UEH &1 AT 1ot §F Harell | Hared T9wTadl & ST & 6 TR eTs ERT d® TRE! & (o] I &1 1T 81

Options:

1. % offeT Femor I

2 % TEmrT T

Z. ' ST AT AT

4 ® timrad FHamor df T

Question Number : 47 Question Id : 5459275703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P & & Fo U = 27

I deef o fear

I1. i =1
111 Wsfer a7

Options:
1. % Id9rll

2. % 11 99Tl



2% [ Uil
4 1 11 Farlll

Question Number : 47 Question Id : 5459275703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is a Capital Expenditure?

[. Investrment in shares
II. Acquisition of land
III. Acquisition of machinery

Options:

1. % landIl

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 48 Question Id : 5459275704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Suppose test tube P’ contains acid and test tube 'Q° contains "base’. When the contents of both the test tubes
are mixed it results in which of the following reaction?

Options:

1. % Acidification
Z % MNeutralisation
2. % Basification

4. % INo reaction

Question Number : 48 Question Id : 5459275704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T HITT 187 TeigT et P ﬁm%@ﬁfﬁwqﬁﬁ‘q o YT 51 Tl 2T DI et @ AT & WA A e, 97 9g
e # & i |7 et T

Options:

1. % arctaeo

2. ¥ JEmET

3. % g

4. % P FITEAT Tl

Question Number : 49 Question Id : 5459275705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T U TAT gehal e oI 0 T0 o ol T8 &) Ja0 7 Uikddd Tt 56 giad - &l

Options:

1. TR aied
2. % ofifde uiteda
3. % Sfdew giadd

4. % g uferd



Question Number : 49 Question Id : 5459275705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cut a fresh slice of brinjal and keep it away for some tirme. It will show some change. This change is knowr as

Options:

1. % Chernical change
2. ® Physical change

2. % Biological change

4. # Mo change

Question Number : 50 Question Id : 5459275706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When a magnesiam ribborn 15 burrnt in candle flarme, it burns with

Options:
1. #* brilliant vellow

Z % prilliant orange
3. ¥ brilliant white
4. % prilliant blue

Question Number : 50 Question Id : 5459275706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el e AU Teae Aiferit & @1 & T AdT 5, a1 95

Options:

1. % Fm@wer (brilliant) H&T
2. % THeer (brilliant) SR
=, ¢ grFer (brilliant) b
4. % THEar (brilliant) JieT

Question Number : 51 Question Id : 5459275707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the colour of the [ron sulphate solution which forms by the addition of iron in copper sulphate?

Options:

1. % Green
= % Brown
3. ® Elue

4. % Crange

Question Number : 51 Question Id : 5459275707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR Tetbe | dly @B THAT & @9 TT6f A5 Aethe Tdea &7 0T FT 51a7 57

Options:

1.9 g
2. % 9
3. ® dFr



4. # gt

Question Number : 52 Question Id : 5459275708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first type of engine developed in the 19th century was based.

Options:
1. % MNuclear

2 % Stearn
2. % Petrol

4 * Diese]

Question Number : 52 Question Id : 5459275708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
19 I saTea # Fo@ioT S @7 U5l T Y STHTHT 4

Options:
1. * uAmy
2. %
3 % U
4 % IR

Question Number : 53 Question Id : 5459275709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT an example of rectilinear motion?

Options:

1. ¥ The hands of a wall clock

2. % A car running on a straight road

3. % A man walking on a straight footpath

4. % March - past of soldiers

Question Number : 53 Question Id : 5459275709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeaT | & a7 ST Mie &7 IE1500 51 57
Options:

1. uEr & gt

2. % U el g wwd 1 gE meT

3. % U e W O T FT S

4 & Ffomt & o uer

Question Number : 54 Question Id : 5459275710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which metal should be added to copper sulphate solution to observe a chiange of blue colour into grecn?

Options:
1. % Irom

2. % Aluminium



3. % Gold

4 % Zinc

Question Number : 54 Question Id : 5459275710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1ot T 3 g€ T § UiKad - B & 5 F 19X drthe Toera § T oty @ i w2y

Options:

1. & @gT

2. ® Ugmad
3. ® g

4, ® FET

Question Number : 55 Question Id : 5459275711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Custatory Feceptors in human beings detect

Options:
1. % termperature
= # smell

2. ¥ taste

4. % pressure

Question Number : 55 Question Id : 5459275711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT | T8 Fee el ______ T 0T 7T 3

Options:

1. ® qUAE
2, % T

3 ¥ T
4. ® T

Question Number : 56 Question Id : 5459275712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following factors affect the temperature of ocean water?

I. Latitude
II. Ocean current
III. Prevailing wind

Options:

1. ¥ landll

2 % Iland Il
2. % landIII

4. % 1,11 and III

Question Number : 56 Question Id : 5459275712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. aTafTar

II. FETENT &mT
111 wrierd o

Options:
1. % 199l

o % 11 qET Il
=% [ gl
4 % 1 11 qerlll

Question Number : 57 Question Id : 5459275713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is the process of removal of silica from the soil.
Options:

1. # Unsilication

= % Desilication

3. # Resilication

4 % Silication

Question Number : 57 Question Id : 5459275713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ ST & TerieierT @1 gar & uigea 81

Options:
1. # si@ieda

o o e
= ® frieiedae
4 ® e

Question Number : 58 Question Id : 5459275714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following landforms can be seen in Himalayas?

[. Gorges
II. W-shaped valleys
III. Waterfalls

Options:
1. # landlIl

2. % Il and III
2. % TandIII
4. %1, 11 and III

Question Number : 58 Question Id : 5459275714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. W —3TeTe & el
Il

Options:

1. % 1 q9rll

o % 11 qET Il
=% [ gl
4 % 1 11 qerlll

Question Number : 59 Question Id : 5459275715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Barak river is in which of the following state?

Options:

1. % Manipur

= % Punjab

3. ® Gujarat

4. % Tarnil Nadu

Question Number : 59 Question Id : 5459275715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Aof MeieET § ® e e § 8
Options:

1. mitge

2. ® U9
3. ® TR
4 % FHEAS

Question Number : 60 Question Id : 5459275716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which of the following factor leads to s0il erosion?

I. Wwind
II. Water
III. Deforestation

Options:
1. # landlIl

2. % Il and III
2. % TandIII
4. %1, 11 and III

Question Number : 60 Question Id : 5459275716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TrafeiaT & & Rr % @ ST & s 1A 27

I &g
II. =1ed

I, aA~EAT

Options:

1. % 199l

2. % 11 qerll
2. % 1 99Tl
4 91 11 F9rlll

ereral Avwarenssse

Group Number : 4
Group Id : 545927284
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareress:2

Section Id : 545927284

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 545927340
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459275717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arid soil is found in which of the following Indian state?

Options:
1. #® Jarmrmu and Kashrmir
2. ¥ Rajasthan

2. % Punjab



4. % Mizoram

Question Number : 61 Question Id : 5459275717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

sy Wt Tgtetas # & T iy v § wig St 27
Options:

1. % 7 ofK T

2. ¥ T

z & U

4 ® fEERw

Question Number : 62 Question Id : 5459275718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who formed Depressed Classes Association in 19307

Options:

1. ®¥ Mahatma Gandhi
2. % ] L. Mehru

2. ¥ Dr. B R. Ambedkar

4. % E. V. Ramaswary MNaicker

Question Number : 62 Question Id : 5459275718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1930 # [EUes FARE TaTas & 18- e T ar?

Options:

1. % [gTeAT TITEft

o % F gA EE

= ¥ ET &1 R seEwt
4, % £ Jt THEAHET AEET

Question Number : 63 Question Id : 5459275719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who won the Second Battle of Tarain?

Options:

1. # Muharmmad Shah

2. % Moharmmad Bin Casim
2. % Nasiruddin Mahrd
4. % Muharmmad Ghori

Question Number : 63 Question Id : 5459275719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TG T GERT Go ToRere] ST 177
Options:

1. % Hpme g

2 % gemg T wiam



3. % JHETH AgEg
4. A TRT

Question Number : 64 Question Id : 5459275720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Raziya Sultan was daughter of which ruler?

Options:

1. ¥ I[ltutrmish

2. % Masiruddin Mahrmud
2. ® CQutbuddin Aibalk

4. % Mohammad Azarn Shah

Question Number : 64 Question Id : 5459275720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UERIE EEIEAET I CEA T AR r

Options:

1. ¥ soqarhe

2 % qdtee T AgEE
3. ® Fgee U
4. ® HigmHg AFAHITE

Question Number : 65 Question Id : 5459275721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich cash crops were exported from India by Eritish during early 19th Century?

I Indigo
II. Opiurm
111 Silk

Options:

1. % landIl

2 % [TandIll
2. % landIII

4. %1, 11 and III

Question Number : 65 Question Id : 5459275721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teiferart = W & 19 off aaTeet & gand # T A WAl @7 ot e e

1. i
II. arhimy
11 s

Options:
1. % Id9rll

o % 1 qET Il
3% [ FuTlll
4 % 1 11 qerlll



Question Number : 66 Question Id : 5459275722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Calcutta Madrasa was founded by?

Options:

1. % Warren Hastings
= % williarm Bentinck
3. % William Jones

4. % Jonathan Duncar

Question Number : 66 Question Id : 5459275722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT A T T 0T T ol 24t7

Options:

1 =i e

2 % TEierw aftw
2. ® fafeem See
4 ® FERIT EF

Question Number : 67 Question Id : 5459275723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hunter Cormrnission was set up in which vear to review the field of education?

Options:

1. % 1880
= % 1901
3. ¥ 1882

4. % 1900

Question Number : 67 Question Id : 5459275723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TareT 3 5 1 AT HT 3 T ged I T T e ad o T e o
Options:

1. % 1820

2 % 1301

3. ¥ 18382

4. % 1900

Question Number : 68 Question Id : 5459275724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The book "Mann ki Baat" is associated with ______.
Options:

1. * Sushrma Swaraj

2. % Arun Jaitley

= % Narendra Modi



4. % Rajesh Jain

Question Number : 68 Question Id : 5459275724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
" T Qe qIET 7

Options:
1. % goAT T
e I i |

= ¢ FigAET
4 % TS

Question Number : 69 Question Id : 5459275725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who has been conferred the 15th Lal Bahadur Shastri MNational Award?

Options:

1. # Bindeshwar Pathalk
2. % Fali 5. MNariman

2. % Prannov Roy

4. % Asholk Desai

Question Number : 69 Question Id : 5459275725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

19 T AT STt AT TET Qe & Tord FemTl-rer fepam mra g2
Options:

1. ® TEevew uraw

2 ¥ TEl TH TOE

Question Number : 70 Question Id : 5459275726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following country has launched the nuclear-powered icebreaker name Tral’ in 20197

Options:

1. % Japan

2. % Gerrmany
2. ¥ Russia
4. % India

Question Number : 70 Question Id : 5459275726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafaT 8 & B o3 2019 & 'S0 AT WA STieT STEase fi-o T &7
Options:

1. % S

2 ® Tt



3 Vv Eg
4 % T

Question Number : 71 Question Id : 5459275727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The book titled "281 and Beyond" is an autobiography of .

Options:
1. # MS Dhoni

2. % VY5 Laxman
2. % Sachin Tendulkar
4. % Shahid Afridi

Question Number : 71 Question Id : 5459275727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

"281 UE Tl AT AW T ATCHET 3]
Options:

1. % TamgH e

2. ¥ i FJeA
3. % g dgaw
4. % aige erEoET

Question Number : 72 Question Id : 5459275728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following is NOT a member of SAARC?
Options:

1. % Afghanistan

2. % 5riLanka

3. #® Maldives

4« Australia

Question Number : 72 Question Id : 5459275728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET & & & 91 @7 geew gl 87
Options:

1. % arpITiEdT

2. ® i

2 ® g

4. siezfEar

Question Number : 73 Question Id : 5459275729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The international Yoga day is celebrated on Every year.

Options:
1. % 23 June



2. % 24 June
3 ¥ 21 June
4 % 19 June

Question Number : 73 Question Id : 5459275729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i = g A FT AT AT 2]
Options:

1. % 2394

2 % 24949

3¢ 2194

4 % 1999

Question Number : 74 Question Id : 5459275730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article 18 of the Indian Constitution deals with which of the following?

Options:

1. ® Right to freedom
2. ¥ abolition of titles
3. % Right to occupation

4. % Freedom of right to speech

Question Number : 74 Question Id : 5459275730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 12 AT 7 algevg 18 ey § & Had gereT g7

Options:

1. % Tadaqr o ST

2. o guTrirEt &7 &T

3. % PIE I B W SATERR
4, ¥ FEp-TaaAaT T ATEFR

Question Number : 75 Question Id : 5459275731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Yice President of India holds office for a term of how many years?

Options:

1. ¥ 7 years
2. % 2 vears
3. %® 3 vyears

4. 9 5 vagrs

Question Number : 75 Question Id : 5459275731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & JUTETS T FAFTA a1 0 T 51T 27

Options:



1. % 7o
2 % o
3 % zaf
4 ¥ 5o

Question Number : 76 Question Id : 5459275732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the ex officio chairman of the council of states?

Options:

1. % President

2. ¥ Vice President
3. % Speaker

4. % Prime Minister

Question Number : 76 Question Id : 5459275732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT & T2 TATS F 57

Options:

1. % eofd

2. o u-TEdiE
3. % anedy

4, ¥ meTAEET

Question Number : 77 Question Id : 5459275733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Second Amendrment to the constitution of India was made in which year?

Options:

1. % 1947
2. % 1950
3. % 1954

4 ¥ 1952

Question Number : 77 Question Id : 5459275733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WICA o FiererT # e Hare i e # fopa T ar?

Options:

1. % 1947
= % 1950
3. % 1954
4 ¥ 1952

Question Number : 78 Question Id : 5459275734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was awarded “Man of the Series” in ICC Men's Cricket World Cup 20197



Options:

1. % JoeRoot

= % Ben Stokes

2. ¥ Kane Williamson
4. % Rohit Sharma

Question Number : 78 Question Id : 5459275734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST, 61 &1, g%y e are 70 2019 § 09 ofTF g #i=r #7 aane e g man ge

Options:

1. ® Jree

2 ® @

3. ¥ I afeamaT

4 * A gl

Question Number : 79 Question Id : 5459275735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following pair of player - game is NOT correct?

Options:

1. % PV Sindhu- Badrintorn
= % Babita Kurnari- Wrestling
2. ¥ Gaurav Solanki - Football

4. % Manpreet Singh - Hockey

Question Number : 79 Question Id : 5459275735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRt 8 & F19 a1 A 9 @ g T30 A5l 57
Options:

1. % it Ry - defie

2 % geftar T - et

3. 1w - pea

4. % gafig fo - 2

Question Number : 80 Question Id : 5459275736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following tearn was NOT a part of Cricket World Cup 20197

Options:

1. % Australia

Z % afghanistan
2. ¥ Zimbakwe

4 % SriLanka

Question Number : 80 Question Id : 5459275736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



FraferaT & & = A1 T S A1 AT e e @ 2019 w7 Tgewr w51 ot

Options:

1. % sfedferar

2. % STRITEdT

3. ¥ SrETed

4 % sfieeT

Arithmetic Abilityl

Group Number : 5

Group Id: 545927285

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrmetic Ability1

Section Id : 545927285
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927341
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459275737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 34¥ is divisible by 7, then what is the value of ¥7?

Options:
1.%1
2. w2
3. ¥ 3
4 % 7

Question Number : 81 Question Id : 5459275737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Il 34¥, 7 & S E, 1K T AW FaT 57

Options:
1.%1
2 %2
3. ¥ 3
4 ® 7

Question Number : 82 Question Id : 5459275738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the value of {7 20 + ./0.81+-/0.49 ?

Options:
1.¥ 432
z % 34
3. % 386
4 % 29

Question Number : 82 Question Id : 5459275738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the value of /7 29 + ./0.81 +-f0.40 ?

Options:
1.9 453
Z % 24
3. % 386
4. % 3.9

Question Number : 83 Question Id : 5459275739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 248X is divisible by £, then what is the minimum value of X7

Options:
1.¥0
2 %2
3 % 4
4 % 3

Question Number : 83 Question Id : 5459275739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afg 348%, 8 | TaWFT §, 71X F1 ~Hd0 A F2T 77

Options:
1.¥0
=z w2
3 % 4



4. % 3

Question Number : 84 Question Id : 5459275740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany numbers are there betveeen 212 and 247 which are divisible by 7 but ot by 67

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.7

2 8

36

4.3

Question Number : 84 Question Id : 5459275740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
212 F9T 347 & sl UHT drat geand & 1 7§ foea § Wy 6 | A5

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1.7

2 8

36

4.9

Question Number : 85 Question Id : 5459275741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr moany odd nurmbers are there between 10 and 200 which are divisible by 97

Options:
1.% 11
Z % g
3.9 10
4 ® 3

Question Number : 85 Question Id : 5459275741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25 _
10 F99T 200 % == Ul gt TEuw g § A0 9 § dveg 57

Options:
1. % 11

2. %9
2. ¥ 10
4 %3

Question Number : 86 Question Id : 5459275742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



IfA= 1+i+i and B = l+i+i.thenwhat is the value of A + B?

2 13 30 6 20 42

Options:

Question Number : 86 Question Id : 5459275742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If A= 1+i+i and B = l+i+i.thenwhat is the value of A + B?

2 12 30 6 20 42

Options:

Question Number : 87 Question Id : 5459275743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Howr miany three digit numbers are there which when divided by 8, 7 and € leaves remainder 7, Gand S
respectively’?

Options:
1. %7
2 V5
3. %6
4 % 4

Question Number : 87 Question Id : 5459275743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 7T & U TR S 7, AT S, 7 3 6§ TR e U dUEA WA 7, 6 TS 2dTEY

Options:
1. %7
2. ¥5
3. %8
4. % 4

Question Number : 88 Question Id : 5459275744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa=7+14-2x54+4x3,E=23+64+4x2-CandC=58<+442 x 345, then what is the value of & +
E = C7?

Options:

1. % 887



2. % a0(7
3. ¥ 957
4. % 91/9

Question Number : 88 Question Id : 5459275744 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AE s =7+14-2x54+4%x3 BE=3+64+4x2-5qJMC=8+4+2x3+58 T4 +ExCHFTATFIE?

Options:

Question Number : 89 Question Id : 5459275745 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of {10201 + /102.01 ++/1.0201 +/0.010201 ?

Options:

1.9 112211
Z % 111.112
3% 121.121
4 % 121.111

Question Number : 89 Question Id : 5459275745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of {10201 + +/102.01 +~/1.0201 +/0.010201 ?

Options:

1.9 112211
2. % 111.112
3% 121121
4. % 121.111

Question Number : 90 Question Id : 5459275746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which is the smallest fraction among 5/7, 8/11, 4/9and 11/3.

Options:

1. ¥ 4)3
= % 5|7
2. % 311
4 % 113

Question Number : 90 Question Id : 5459275746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
SI7, 8111, 49 TUT 113 ¥ & Had FieT g &9 a1 57

Options:

1.9 4/9
2. % 57
2% 8111
4 % 11)2

Question Number : 91 Question Id : 5459275747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Average of 34, 72, 45, 79, 42 and M i5 49 What is the value of N7

Options:
1. % 32
= W22
3% 26
4 % 20

Question Number : 91 Question Id : 5459275747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S, 72, 45, 79, 42 TN 7 &6d 49 51 N &7 0= F47 57

Options:
1. % 32
2 o2
3. % 26
4 % 20

Question Number : 92 Question Id : 5459275748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If Amnan marks the price of his articles 70% more than their cost price and allows a discount of 40%, then what
is his gain percent?

Options:

1. % 12 percent
2. % 4 percent
3.9 2 percent

4. % 3 percernt

Question Number : 92 Question Id : 5459275748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e e\ ST aeqer & Ord B 3490 0 g | 70% SITEw affed #eaT a2 40% 1 G ol 5, 71 SHET A1 Wid 2 747 87

Options:

1. % 12 nfdem
o % 4 udaT
= ¥ 2 aidaT
4 % gudaT




Question Number : 93 Question Id : 5459275749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Average weight of a group of 12 fruits is 20 kg. Average weight of a group of 18 fruits is 35 kg. What will be
the combined average weight of both the groups?

Options:

1. % 21kg
2. % Z3kg
3.9 29kg
4 % 27 kg

Question Number : 93 Question Id : 5459275749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%?mm*%wﬂqgmaﬂﬂ?wzo e 81 18 well & U GHE 1 T6d 9 35 FROT 81 g1 AE! 6 9w e 9 a4

Options:
1. % 21 e

o ® 33T
3 ¥ 2o TETT
4 ¥ 27 WETT

Question Number : 94 Question Id : 5459275750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat is the value of 7E% of 120% of 21607

Options:

1. % 1964
2. % 2084
3. ¥ 1944
4 % 2014

Question Number : 94 Question Id : 5459275750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2160 120% & 75% T AW T4 57

Options:

1. % 1964
2. % 2084
3. ¥ 1944

4 % 2014

Question Number : 95 Question Id : 5459275751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a number M1 is 25% less than another number M2 and M2 15 20% 1ess than 260, then what is the value of
B1Y

Options:

1. % 1649



2. % 207
3% 197
4. ¥ 189

Question Number : 95 Question Id : 5459275751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T U ST M1, GO HE M2 | 25% W § TUTM2, 360 # 30% A 5, a7 M1 @AM T4 57

Options:

1. % 169
2. % 207
3% 197
4 ¥ 189

Question Number : 96 Question Id : 5459275752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a number is decreased successively by 20%, 35% and 25%, then what is the effective rate of decrease?

Options:

1. % 71 percent
2. % 39 percent
2. % 49 percent
4. % g1 percent

Question Number : 96 Question Id : 5459275752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ua EEAT B AT A @ 20%, S5% TUT 25% # FH [T T 8, 97 THT 6 THTET S 4T 57

Options:

1. % 71 ufdeaT
2. % 30 udeT
3. % 49 Ui
4. ¥ 61 nideT

Question Number : 97 Question Id : 5459275753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The selling price of a chair is Rs 714 and the profit percentage is 19%. What is the cost price of the chair?

Options:

1. % REsE50
2. % Rs 720
3. ¥ Rs 600

4. % Hs 720

Question Number : 97 Question Id : 5459275753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U P T T Ied 714 T a7 AT Widad 19% 81 gl @ % 0ed 947 87

Options:



1. % 650w
2 % 720w
3. ¥ 500 T
4. % 7RO T

Question Number : 98 Question Id : 5459275754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A wholeseller earns a profit of 40% by selling an article for Rs 196, To earn a profit of £0%, by how rmuch
percentage should he increase his selling price?

Options:

1. % 2856 percent
2. % 42 percent

2. % 320 percent

4. ¥ 14 25 percent

Question Number : 98 Question Id : 5459275754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U 9%q 196 T0 H <o e A1 T T 40% W7 o FHT o1 60% T & FHE & 6T 390 e o grar @ feg nidaa &
TFTT TTRT?

Options:

1. % 2856 nidaa
2. % 47 UideT

. ® Z0uRaT

4. ¥ 14 28 nideT

Question Number : 99 Question Id : 5459275755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cost price of article R is Rs 20 more than the cost price of article T. Selling price of both the articles is same.
Profit earned on article T is 40% and profit earned on article R is 20%. What is the cost price of the article R?

Options:

1. % REs 120
2. % Hs 160
3. ¥ Rs 140
4 % Hs 130

Question Number : 99 Question Id : 5459275755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TG B W T O, aeq T & 0 §rd § 20 T ITedr 21 g1 aeq sl %1 %9 59 G0 gl a6 T UT 40% T ATd HHTET 4T &
T 6 R U% 20% T 6T FHAT 4T 81 96q B %1 % O 747 27

Options:
1. % 120w

o ® 150 w4
3 ¥ 140 ¥
4 ¥ 130573



Question Number : 100 Question Id : 5459275756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Anil, Kamal and Rahul hired a car for Bs 2600, Anil used it for € hours, Kamal used it for 12 hours and FEahul
used it for 18 hours What is the share that Kamal has to pay as cost of hire?

Options:

1. ¥ Rs 1200
2. % Rs 1400
2 % Rs 1000

4 % Hs5 1300

Question Number : 100 Question Id : 5459275756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST, HE TUT e + U B A1 3600 F0r # Foperer ot o ailet « SaeT 6 w0 JuamnT {oha, Fe = SHeT 12 w0 Juamn
TeaIT T gl = 6T 18 ©E I T wwet i e 1 fohar fgedr dar ugmm

Options:

1.9 1200 F
2. % 1400 w0
3 % 1000 T
4, % 1800 T

Arithmetic Abilityz2

Group Number : 6
Group Id: 545927286
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Alality2

Section Id : 545927286

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1



Sub-Section Id: 545927342
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459275757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa:b=3:4dandc:d = 2a: 3b, then what is the value of ac: bd?

Options:
1. % 1:
= ¥ 3
3% 1
4 % 5

Ly o ca

Question Number : 101 Question Id : 5459275757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e b=3:47ac:d = 2a:3b gl arac: bd AW FAT 57

Options:
1.% 1:
2. ¥ 3
3% 1
4 % 7

L B X B ' B L

Question Number : 102 Question Id : 5459275758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ started a business by investing Rs 40000, After 3 months Y joined the business by investing Bs 50000,
After 2 more months Z joined the business with Bs 60000, What will be the ratio of profits of ¥, ¥ and Z at
end of 2 yvears?

Options:

1. % 4:5:6

Z % 32 35:36
I % 3282526
4 % 281516

Question Number : 102 Question Id : 5459275758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ T 40000 P FHer e U sAE S B 3 mgiH e Y, S0000 F0 #F e & 99 0 | 2 T 3 R A
T Z 60000 FO 3 A1 S00R & T2 M 2 a9 & & B ¥, Y T97 Z & /19 T S0Td F07 57

Options:

1. % 4:5:6

2 % 32:35:36
3. % 38.25:26
4 % 28:.15: 16

Question Number : 103 Question Id : 5459275759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A& sum of money becomes 3 times in 4 years when kept on simple interest. In how many years will it become
15 times?

Options:

1. % 28 vears
2. % 14 vears
2 % 15 years

4. % 20 vears

Question Number : 103 Question Id : 5459275759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AR el TR &2 O Tl AT T 2 a7 4 o § 3 AT 51 AT 81 9% = o o 15 147 51 Agmif?

Options:

1. c5ad
2 % 1497
3 % 159y
4, % 30

Question Number : 104 Question Id : 5459275760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

REs 22000 are kept at compound interest icompounding annually). If the rate of interest is 10% per annurm,
then what is the amount after 2 yvears?

Options:

1. % Rs 27220
2. % Rs 25240
3. ¥ Rs 2E6820

4. % Hs5 27340

Question Number : 104 Question Id : 5459275760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

22000 F0F BT Thalkg eAT (TTHE GAr=) T TET 72T 51 AT oA &1 3¢ 10% 0id o &, 97 2 ad oeara Tieres 4 27
Options:

1. % orFeo0

2. % 25240 T

3 ¥ 2EE20 T

4 ® 27540 w04

Question Number : 105 Question Id : 5459275761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of money becomes Bs 29282 in 4 vears and Rs 26620 in 2 yvears when kept at compound interest
icornpounding annually). What is the per annum rate of interest?

Options:

1. % 16 percent
2. % 14 percent
3. ¥ 1 percent

4. % 12 percent



Question Number : 105 Question 1d : 5459275761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aaﬁ[gmmﬁwm T T3 1 O U0 it 4 g § 29282 #0479 3 aU # 26620 o0 5T ATd T 51 Wi o =4 & 2%
FT &7

Options:

1. % 16 ufdeT
2. % 14 nide
3 ¥ 1 aideT
4. % 12 uida

Question Number : 106 Question Id : 5459275762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& 400 metres long train takes 16 seconds to cross a pole. What is the speed of the train?

Options:

1.9 30 kmihr
2. % 120 km/fhr
2 % 20 km/hr
4 % 70 km/hr

Question Number : 106 Question Id : 5459275762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 400 Alet Al (ETS T U Tl @1 UW F04 7 16 TF0S ol 1 51 LalTIS T &1 i &7 57

Options:

1. % 90 T atjeeT
2. % 120 AT
3. % 80 FF AT g
4, % 70 AT

Question Number : 107 Question Id : 5459275763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A car travelled four equal distances of 10 km at speeds of 20, 80, 90 and 120 krjhr respectively. What is the
average speed of the car?

Options:

1. % 47 2 km/fhr
2. % 488 km/hr
2. % 54 3 km/fhr

4 % 57 6 km/hr

Question Number : 107 Question Id : 5459275763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ST 10 T At &1 I @A it &1 wAs: 30, 60, 90 o7 120 TR Al (52T &Y 1d & 99 &eaT g1 ST bl Sile i = 57
Options:

1. % 47 2 T AT (g



2 % 488 FFAT T
T % £4 3 e
4 ¥ 57 ¢ fFdr e

Question Number : 108 Question Id : 5459275764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two trains leave 51 and 52 towards 52 and 51 respectively at same time. Speeds of train COTTIng from 51 and

S2are 18 kmfhr and 22 km/hr respectively. When thevy meet then it is found that the train corming from 52
has travelled 54 krmn distance more than train coming from 51, What is the distance between 51 and 527

Options:

1. % 150 km
2. % 180 km
2% 240 km
4. % 200 km

Question Number : 108 Question Id : 5459275764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TITATEAT S 1 T S2 § 52 T2 51 & o0 U 5f @R W Maad T 831 51 T 52 & Ia- et (st & mid @0 15 T

JEET FT 32 Frlt jueT 21 o O e T ag waTaeaT 2 T 52 F Tt ST A S 1 F o7 g emET € 84 Rt o afde
TAFCHI G 51 2T 52 & A fopasil gir g7 &

Options:
1. % 150 fmdr

2. % 180 fF A
3. % 240 fm At
4 " 300 fF A

Question Number : 109 Question Id : 5459275765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

El and E2 together can complete a work in 15 days. E1 alone can complete the same work in 40 days. If they
together complete the same work and they get Bs 20000, then what is the share of EZ7

Options:

1. % Es 20000
2. % Rs 50000
2. % Rs 40000
4 % Rs 322000

Question Number : 109 Question Id : 5459275765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

E1 9T ES T U #1415 T B Oy & @d 31 E1 aiat 0 @ 40 fo7 8 @ ¢ aaar 81 i o fesy au @ g
Fd & TUT I 50000 ¥ Tad 5, TTE2 F7 Fear #ar 57

Options:

1. % 30000 70
2. ¥ 50000 T
3 % 40000 70

4. ® 22000 w0




Question Number : 110 Question Id : 5459275766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yogesh and Yivel alone can do a work in 72 and 8 days respectively. They both start worlang together, buat
after & days, Vivelk left the work. In how rmany days will Yogesh alone cormplete the remaining work?

Options:

1. % 24 davs
2. % 18days
3.9 12 days
4 % 16 days

Question Number : 110 Question Id : 5459275766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TATTT T Teledr 3fdhet ek @14 01 0 72 97 & T § 9 9 5] 95 g1 T T a1 4€ oed &, U 6 1o a1g, feleid &1
TS W ZIET AT g1 LT SIheTT el §U BT Bl T Tt o o wirmre

Options:

1. % 24127
o % 18T
VY12 RT
4 % 16T

Question Number : 111 Question Id : 5459275767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yirat, Sumit and Pawan together can complete a work in 24 days. Efficiency of Wirat is thrice that of Surnit and
efficiency of Pawan is four times that of Sumit. How many days Pawan alone will take to complete this work?

Options:

1. % 24 days
2. % B4 days
2. % 26 davs
4. % 48 days

Question Number : 111 Question Id : 5459275767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e, T U e U @ ot 24 B9 # w o wad 5 e & g @t TOT & T e o g EIEa10d
w%ﬁ%%wﬁaﬁmﬁﬁﬁmﬁﬁ?ﬁww g g

Options:

1. % g4 127
o % g4 faT
3 % 36 TT
4 ¥ 45 T

Question Number : 112 Question Id : 5459275768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The perimeter of a rectangular table is 34 cm and its area is 60 cm?. What is the length of its diagonal?

Options:



1.¥ 12 cm
Z % 168cm
3. % 1zcm
4. % 26 cm

Question Number : 112 Question Id : 5459275768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

oY TTaTeRT A FT 9FET 34 AA. § AT 3HA SFha 60 TATL B 3E% AT Fr o w3
Options:

1. ¢ 1344

2. % 16 HH

3 % 129

4. % 26 ¥

Question Number : 113 Question 1d : 5459275769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& copper sphere of radius 15 cm is drawn into a cylindrical wire of length 20 metre. What is the radius of the
WIreY

Options:

1. % 1.7cm
2. ¥ 15cm
3 % Zom

4 % 1 2cm

Question Number : 113 Question Id : 5459275769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 H.AT 327 a7 TTe & UF Tie &1 UF 20 B2 @il ST a7 § agAT A9 81 I &1 a7 #4787

Options:

1. % 1.7 99
2. ¥ 158
3 % caEdn
4 % 12d0n

Question Number : 114 Question Id : 5459275770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The side of a rhombus measures 10 cm and one diagonal is 12 cm. What is the area of the rhombus?

Options:

| % &4 cm-

o x 120 cm?



06 cm?

104 cm?

Question Number : 114 Question Id : 5459275770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TeaAeR o7 T AT 10 # AT § T2 U et 12 |07 81 Eunai 7 g9 79T a7

Options:

84 H.HT2

120 H.#T.2

o W

v 96 H.HT2

104 H.#T.2

4 ®

Question Number : 115 Question 1d : 5459275771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the number of cars of different colours in a showroorm. The numbers are
showm as a percentage of total cars in the showroom.

T -.
—

/ Black, 200 \
ey \
Ff/-l
m—_ Blue,
T,‘:"n'e]!m\. 24% |/
'l

\ 109

White, /
- 16% \

If the total number of cars in the showroorm are 200, then what is the difference between the number of red
colour cars and vellow colour cars?

Options:
1. % 20
2 % 25
2. ¥ 20
4 % 35

Question Number : 115 Question 1d : 5459275771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



:ﬁé‘%quaﬁaw&ﬁwﬁﬁﬁ:ﬁwfﬁrmﬁﬁfﬁﬁwaﬁam% T 1 AEE | Fol TSt & Wiaad & &0 § gafar
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e,
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| - =7\
% "1'5*'-/ \ 2%
100 -\
: _r'? b g v g

aaf e i TRt & e G 300 &, A1 e T T TRt & et g et 6 gy iRt i e e siaw o 7
Options:
1. % 20
2. % 25
2. ¥ 20
4 % 35

Question Number : 116 Question Id : 5459275772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of persons visiting on different days of a week.

Days Number of person
D1 120
D2 140
D3 154
D4 157
D5 163
D6 173

Wwhat is the percentage increase in number of persons visiting from D1 to DS?
Options:

1. % 35.83 percent

2. % 40 83 percent

3. % 45 8BS percent

4. % L0.E3 percent

Question Number : 116 Question Id : 5459275772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e & It FivienT gwd o el Teat ot e ottt @ Eear ot gaid T g

&= afdaay f g&ar
D1 120
D2 140
D3 154
D4 157
D5 163
D6 173

D1 # DS T A earhal &1 dedr § uidad iy 727 27
Options:

1.9 3583 uideT

2 % 4083 nidem

3. % 45 53 UldeT

4, % 5083 nida

Question Number : 117 Question Id : 5459275773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of right handed players in different teams.

Team Number of right
hand plaver
Tl 4

T2
T3
T4
TS
T6

!
T8

T9
T10

R 0 | ) || v o | R | | DN

What i3 the average nuriber of right hand plavers per tearmn?
Options:
1. % 3.9
2 % 41
3 %33
4 ¥ 43

Question Number : 117 Question Id : 5459275773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e & Tt arierenT el St o g g o REenigat & dear ot il g

&= ard gy

Tl
12
T3
T4
TS
T6
T7
T8
T9

T10

MMQ—IJWLL&QL—%

Options:
1. % 39

> %41
o %33
4 ¥ 473

Question Number : 118 Question Id : 5459275774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the amount of water (in litre) in different rmixtures.

5 07 43

e 401 33

g 30 - 25

B 20 - T
K 10

E 10 H

J L

{ ':l T T T T T T 1

Ml M2 M3 M4 M5 M6 M7

Mixture

The amount of water (in litre) in M1 mixture is how much percent less than the amount of water (in litre) in M7
mixture?

Options:
1. % 47 36 percent

2. % 57 36 percent
% % §7.36 percent
4, % 77.36 percent

Question Number : 118 Question Id : 5459275774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
et Teagm T avE = ETag et # o S ATET (wie #) w1 gaiar 8

' 16 18 19

o S LI

T T

MI M2 M3 M4 MS M6 M7

qelt & Ama (e A)
.E‘:l

foser

Tepaor M1 # OTHT T ATAT (Ffee #) T M7 # a6 W (Fe ) F e wideT w1 g
Options:

1. % 47 36 uideT

2. % 57 36 nideT

3. % 57 36 nideT

4 ® 77 26 uldad

Question Number : 119 Question Id : 5459275775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the weight of different persons.

120 1 103

100 4 £9
80 1 67 69 .

60
40 1
20
0 ; . ; ; .

Pl P2 P3 P4 PS

Weight

Person

The weight of PS is how much percent less than the sum of weights of P1 and P37
Options:

1. % 17.08 percent

2, ¥ 27.08 percent

3. % 37.08 percent

4, % 47.08 percent

Question Number : 119 Question Id : 5459275775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



it Team T gue T B st @7 ar gaifar 1

120 - 105
100 1 B % [
80 1 &7 69 [

g %

40
20
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PIL. P2 P3 P4 PS5
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b

PSS ®TARP1 TP & A1 & i & T nideaa 7w 27
Options:
1. ® 1708 ufdaT

= % o7 08 uidad
= ¥ 37 08 uideT
4 ® 47 05 uldaT

Question Number : 120 Question Id : 5459275776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of article produced on different days of a weelo

35 7
30 1
25 1
20 1
15 9
10 1
5 4
0 . ' ' .
D1 D2 D3 D4

Days

Number of articles

what are the total number of articles produced on all the 4 days?
Options:
1. ¥ 38

o ® g
. ¥ 98
4 % 34

Question Number : 120 Question Id : 5459275776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



et Tem T v o g o el oAt ox geied eeqart i Hear at gaiar g
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it 4 ToAt & Ieamied aegall & P a7 57
Options:

1. % 88
o % g2
= v 98
4 % 34
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Revisit allowed for view? :
Revisit allowed for edit?:
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Group Marks:

Revisit allowed for group Instructions? :
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Section Id :

Section Number :

Section type:
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Question Number : 121 Question Id : 5459275777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

An old man (1) [ is selling fruits (2) [ in the market (3) [ No error (4)
Options:
1.%1
2. w2
3% 3
4 ¥ 4

Question Number : 121 Question Id : 5459275777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

An old man (1) | is selling fruits (2) | in the market (3) [ Mo error (4)
Options:
1.%1
2 w2
3% 3
4 ¥ 4

Question Number : 122 Question Id : 5459275778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

We went (1) § in the cinema (2) [ last night (3) [ No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 122 Question 1d : 5459275778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

e went (1) [ in the cinerna (2) [ last night (33 1. No error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4

Question Number : 123 Question Id : 5459275779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The ook (1) | who has pictures (2) [ in it is mine (3) /. No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4

Question Number : 123 Question 1d : 5459275779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The bool: (13 | who has pictures (2) [ in it 15 rmine (33 | No error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4

Question Number : 124 Question Id : 5459275780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

& fire breaked (1) [ out inl the factory (2) | last night (3) /. No error (4)
Options:
1.¥v 1
2. % 2
3% 3
4 % 4

Question Number : 124 Question Id : 5459275780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

& fire breaked (1) | out in the factory (2) | last night (3) /. MNo error i4)
Options:
1.¥ 1
2. %2
=% 3
4 % 4

Question Number : 125 Question 1d : 5459275781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Wher are vou (1) corring back (23 | in Murmbai? (3) [ No error (4)
Options:
1.%1
2. w2
3. ¥ 3
4 % 4

Question Number : 125 Question Id : 5459275781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

When are vou (1) cormung back (23 [ in Mumbai? (3) | Bo error (4)
Options:
1.%1
2 w2
3.¢3
4 ® 4

Question Number : 126 Question Id : 5459275782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

She doesn’t rmuind (to ke disturbed).
Options:

1. ¥ being disturbed

2. % to being disturbed

= * being disturbing

4. % IMNo [mprovernent

Question Number : 126 Question Id : 5459275782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She doesn't mind (to e disturted).
Options:

1. % being disturbed

2. % to being disturbed

2. % being disturbing

4. % MNo Improvermernt

Question Number : 127 Question Id : 5459275783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

iIThe Gold) 15 a precious metal.



Options:
1.% 4

2 % An
2. ¥ Gold

4. % No Improverment

Question Number : 127 Question Id : 5459275783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

iThe Gold) 15 & precious rmetal.
Options:

1% A

2 % An

3. ¥ Gold

4. % No Improvermnent

Question Number : 128 Question Id : 5459275784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

[ am sorry, but I [don't believe) what you say.
Options:

1. % will not believe

2. # il not be believing

2. % amno believing

4. 9 Mo Improvermnent

Question Number : 128 Question Id : 5459275784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

[ armn sorry, but I idon’t believe) what yvou say.
Options:

1. % wall not believe

2. % will not be believing

2. % amno believing

4. ¥ INo [mprovernent

Question Number : 129 Question Id : 5459275785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

Keats (describe) the idea very well in his poems.
Options:
1. ¥ describes



2. % iz descried
3. % describing

4. % Mo Improvement

Question Number : 129 Question Id : 5459275785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

Keats (describe) the idea very well in his poerms.
Options:

1. % describes

= % iz descried

2. # describing

4. % No Improverment

Question Number : 130 Question Id : 5459275786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

She met a lot of people (@t) her holiday.
Options:

1. % in

2 % on

2. ¥ during

4. % No Improvermnent

Question Number : 130 Question Id : 5459275786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She met a lot of people (at) her holiday.
Options:

1. % in

2. % on

2. ¥ during

4. % Mo Improvement

Question Number : 131 Question Id : 5459275787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

Sanva doesn't ______ much money to buy a phone.
Options:

1. % has

= ¥ have

RNt



4. % gre

Question Number : 131 Question Id : 5459275787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Sanvya doesn't
Options:

1. * has

= ¥ have
3% s

4 % gre

rmuch money to buy a phone.

Question Number : 132 Question 1d : 5459275788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

AMMAN was appointed the monitor of the class.

Options:
1.9 as
2. % to
3. % 50

4. # because

Question Number : 132 Question Id : 5459275788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

ATTAT WA S appointed the monitor of the class.

Options:
1. ¥ as
2%t
2 % 30

4. % because

Question Number : 133 Question Id : 5459275789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

We intend to there for a month.

Options:

1. % stayed
2. % stays
2. ¥ stay

4. % staying



Question Number : 133 Question Id : 5459275789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

Weintend to ______ there for a month.
Options:

1. % stayed

2. % stays

2. ¥ stay

4 % staying

Question Number : 134 Question 1d : 5459275790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

______ the students hawve done well in the competition.

Options:
1. * Each

2. % Every
=. ¥ Either
4 9 Al

Question Number : 134 Question Id : 5459275790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

______ the students hawe done well in the competition.
Options:

1. ® Each

2. % Every

3. ® FEither

4. % All

Question Number : 135 Question Id : 5459275791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Abhi ______ Germarn very fluently.
Options:

1. % speak

2. % have spokern

2. ¥ speaks

4 % speaking

Question Number : 135 Question Id : 5459275791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Abhi ______ German very fluently.
Options:

1. % speak

2. % hawve spoken

3. ¥ speaks

4. % spegking

Question Number : 136 Question Id : 5459275792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Your son should have asked vou before ___
Options:

1. % legve

= ¥ leaving

2% toleave

4 = left

Question Number : 136 Question Id : 5459275792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Your son should have asked vou before
Options:
1. % legve

2. ¥ leaving
3. % tolegve
4 = left

Question Number : 137 Question Id : 5459275793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She will hawe to start ______ QI1CE.
Options:
1. % on
2. % of
I ¥ at

4 % in

Question Number : 137 Question Id : 5459275793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She will have to start Or1Ce,



Options:
1. % on
2. % of
3. ¥ at

4. % in

Question Number : 138 Question Id : 5459275794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

e rmust serve ______ COUTETY.
Options:

1. ¥ our

2. % himself

2. % purself

4. % thernself

Question Number : 138 Question 1d : 5459275794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We must serve COUTLTY.
Options:

1.9 our

2. % himself

2 % ourself

4. % thernself

Question Number : 139 Question Id : 5459275795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: of knowledge sometimes

: ecormes the cause

E: The forbidden fruit

5. of great distress and anguish

Options:

1. % PQORS
2. ¥ RPOS
2. % ROSP
4 % REQP

Question Number : 139 Question Id : 5459275795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: of knowledge sometimes

2 becomes the cause

R: The forbidden fruit

2. of great distress and anguish
Options:

1. ®¥ PORS

2. ¥ RPOS

3. % ROQSF

4 % RSOP

Question Number : 140 Question Id : 5459275796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: Diwali is held at

; the beginning of the Hindu
R cormmercial year in honour
2. of the goddess Lakshrmi
Options:

1. ¥ PORS

2. % RSP

2. % PRSQ

4 % PSOQR

Question Number : 140 Question Id : 5459275796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: Diwall 15 held at

; the beginning of the Hindu
E: cormumercial year in honour
5. of the goddess Lakshrmi

Options:
1. % PORS
2. % QRSP
3. % PRESO
4. % PSOR
eneral Englishz
Group Number : 8
Group Id: 545927288
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
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Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
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Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 5459275797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: Asholka was a kind ruler.

) Many lkings hawve lived and died;

E: My favourite hero in history is Asholka the Great.

S: nobody remermbers therm but Ashoka’s name will live of ever,
Options:

1. % PORES

2. % RSQF

=W RPOS

4 ® RSPO

Question Number : 141 Question Id : 5459275797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: Ashola was a kind ruler.

3 Many kings hawe lived and died;

E: My favourite hero in history is Ashoka the Great.

S: nobody remembers therm but Ashoka’s name will live of ever,

Options:
1. % PORES
2. % RSP



3. ¥ RPCS
4. % RSPQ

Question Number : 142 Question Id : 5459275798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Kidnap

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1. Abduct

2. Liberate

3. Salvage

4 Rescue

Question Number : 142 Question Id : 5459275798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Kidnap

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Abduct

2. Liberate

2. Salvage

4 Hescue

Question Number : 143 Question Id : 5459275799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Motiorn

Options:

1. % Reality

= % Spirit

3. ¥ Perception
4. % Thoughts

Question Number : 143 Question Id : 5459275799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Motion
Options:
1. % Reality



2. % Spirit
3. ¥ Perception
4. % Thoughts

Question Number : 144 Question Id : 5459275800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Permmit

Options:

1. ® Deny

= % Reject

2. # Encourage

4 % Sanction

Question Number : 144 Question Id : 5459275800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Perrit

Options:

1. % Deny

2. % Reject

2. % Encourage

4 % Sanction

Question Number : 145 Question 1d : 5459275801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Reprirmarnd
Options:

1. # Reveal

2. ¥ Praise

3. % Repel

4. ® Acceptance

Question Number : 145 Question Id : 5459275801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that 15 opposite i meaning to the Zivern word.

Reprimand
Options:

1. ® Rewveal
= % Praise

3. # Repel



4. % Acceptance

Question Number : 146 Question Id : 5459275802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that reans the same as the given word.

Interpret
Options:

1. * MNarrate
= % Suppress
2. ¥ Decipher
4. % Dweell

Question Number : 146 Question Id : 5459275802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Interpret
Options:

1. % Narrate
2. ® Suppress
2. ¥ Decipher
4. # Dryeell

Question Number : 147 Question Id : 5459275803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Amatuer
Z ¥ Armnateur
3. ® Armmateur

4. % Ermateur

Question Number : 147 Question Id : 5459275803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:
1. ¥ Amatuer

2 % Armateur
3. % Armmateur

4 % Ermateur

Question Number : 148 Question Id : 5459275804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Aparent
2. % Aparant
3. ¥ Apparent
4. % Apparant

Question Number : 148 Question Id : 5459275804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Aparent

2. % Aparant

2. ¥ Apparent
4. % Apparant

Question Number : 149 Question Id : 5459275805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Bellwether
2. % Eallwether
2. % Bullwether

4. % Bellweather

Question Number : 149 Question Id : 5459275805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. ¥ Eellwether
2. % Eallwether
2. % Bullwether

4. % Bellweather

Question Number : 150 Question 1d : 5459275806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Out of the way
Options:



1. # Impossible
2. % To think of the future
2. % Human body

4. % Not conveniert

Question Number : 150 Question Id : 5459275806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Out of the way

Options:

1. * Impossible

2. % To think of the future
2 % Human body

4 % MNot converiient

Question Number : 151 Question Id : 5459275807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOR-'-.?iﬂg Question, out of the FiveTl four alternatives, select the alternative which best expresses the
ITEanIng of the Idiom Phrase.

The gift of the gab
Options:

1. % In disorder

2. % Inany case

3. 9 Talent of speaking

4 % Rare

Question Number : 151 Question Id : 5459275807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

The gift of the gab
Options:

1. % In disorder

2. % Inany case

2. ¥ Talent of speaking

4. % Rare

Question Number : 152 Question 1d : 5459275808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Fair play



Options:

1. % Equal conditions for all
Z % Destruction

3. % In danger

4. % TIsually

Question Number : 152 Question Id : 5459275808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | FPhrase.

Fair play

Options:

1. ¥ Equal conditions for all
2 % Destruction

2. % In danger

4. % Usually

Question Number : 153 Question 1d : 5459275809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

A public roorm or building where gambling games are played.
Options:

1. % Lounge

2. % Creche

3. % Burrow

4 % Casino

Question Number : 153 Question Id : 5459275809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

& public roorm or building where garnbling games are played.
Options:

1. ¥ Lounge

2. % Creche

3. ¥ Burrow

4. ¥ Zasino

Question Number : 154 Question Id : 5459275810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that can substitute the given sentence.

o1 who makes sculptures
Options:



1. ¥ Sculptor
. ® Artist
2. #* Linguist

4. % Curator

Question Number : 154 Question Id : 5459275810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given senterice.

One who makes sculptures
Options:

1. % Sculptor

2. % Artist

3. % Linguist

4. % Curator

Question Number : 155 Question Id : 5459275811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
hoose the word that can substitute the given sentence.

& piece of enclosed land planted with fruit trees
Options:

1. # Reservoir

2. ¥ Crchard

3. % Island

4. % Shed

Question Number : 155 Question Id : 5459275811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& piece of enclosed land planted with fruit trees
Options:

1. ® Reservoir

= % Crchard

3. % Island

4. # Shed
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Sub-Section 1d: 545927345
Question Shuffling Allowed : Yes

Question Id : 5459275812 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)



Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

American politician cartoons often follow the general displeasure of the government by the American people.
They run the gamut from economics to foreign policy to the overwhelming popular topic of bureaucracy. As an
avid reader of politician cartoons on a daily basis, [ enjoy the humour and cynicism found within these forms
of speech. Not only can they poke fun at politicians for their behaviour, but they often raise a strong sense of
values and morals in the person that reads him From topics currently facing the United Nations, our federal
ZOVErMITent or current news events, the cartoonists use a medinm that was once reserved for innocent hurmour
and changes it, 50 that it draws the readers attention.

Since the beginnings of Armerican political cartoons have often portrayed government officials as inept and
sormetimes just plain stupid. Politicians are very easy targets for the press and so became the subject of many
daily papers editorial page cartoons. Although sometimes the cartoonist draws on current events and pay
tribute to people who are often thought of with reverence. Take e g. Charles Schultz on the day following his
death most cartoons as well as political cartoons paid horrage toa person who is considered the great
cartoonist of all tirne. Other cartoon strips showed their characters attending his funeral or rissing him in
sorme other way. While the most poignant political cartoons I rermernberad about his death was by a cartoonist
Mike Thompson of the Detroit free press. [t showed Charlie Browr walking through the gates of heawven with
an older man walking beside him and saying to him. "Now, a few pointers about kicking a football". The
person walking with Charlie browr was Tom Landry. Political cartoons stay on the pulse of the current affairs
and in doing so try to draw the attention of their audience of the topic and nudges them to take some kind of
actiorl. Soif you want to know about how a segrment of America feels turn to their editorials and read the
political Cartoons.

Sub questions

Question Number : 156 Question Id : 5459275813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a word which means the same as poignant

Options:

1. * Cheerful
2. % Disturbing
2 % Wornderful
4. % Blunt

Question Number : 157 Question Id : 5459275814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements is not true?

Options:
1. % Armerican political cartoons never make fun of the politicians
2. % Politicians are the subject of newspaper editorials page cartoon

2. % In order to understand the feelings of Americans towards their politicians, one needs to read the
editorials,

4. % Political cartoons attract the attention of their readers.

Question Number : 158 Question 1d : 5459275815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is false?

Options:

1. % According to political cartoons, government officials are stupid.
2. ¥ [t is not easy to target politicians because they are very powerful.
= % Political cartoons keep a watch on the day to day events.

4. % MNo option is correct



Question Number : 159 Question 1d : 5459275816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true?

Options:
1. # Political cartoons often portray government officials as incapable or plain stupid

2. % Political cartoons stay on the pulse of current affairs

2. % Political cartoons often portray government officials as incapable or plain stupid and Political cartoons
Stay on the pulse of current affairs

4. % Do option is correct

Question Number : 160 Question Id : 5459275817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage how people with reverence are portrayed through a cartoon?

Options:

1. ®* These types of people do not get any mention in the cartoons

2. % A& tribute through obituary is paid

2. % With the help of a poignant cartoor, the cartoonist tries to pay homage to the esteemed personality

4. % Such people are mentioned only in editorials

Question Id : 5459275812 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label | Comprehension

Read the following information carefully and answer the given questions.

American politician cartoons often follow the general displeasure of the government by the American people.
They run the gamut from economics to foreign policy to the overwhelming popular topic of bureaucracy. As an
avid reader of politician cartoons on a daily basis, I enjoy the humour and cynicism found within these forms
of speech. Mot only can they poke fun at politicians for their behaviour, but they often raise a strong sense of
values and morals in the person that reads him. From topics currently facing the United MNations, our federal
ZOVErMITeNt or current news events, the cartoonists use a medinm that was once reserved for innocent hurmour
and changes it, so that it draws the readers attention.

Since the beginnings of American political cartoons have often portrayed government officials as inept and
sormetimes just plain stupid. Politicians are very easy targets for the press and so became the subject of many
daily papers editorial page cartoons. Although sometimes the cartoonist draws orl current events and pay
tribute to people who are often thought of with reverence. Take e g Charles Schultz on the day following his
death most cartoons as well as political cartoons paid homage to a person who is cornsidered the great
cartoonist of all tirne. Other cartoon strips showed their characters attending his funeral or rissing him in
sorme other way. While the rmost poignant political cartoons I rermernberad about his death was by a cartoonist
Mike Thompson of the Detroit free press. [t showed Charlie Browr walking through the gates of heawven with
an older man walking beside him and saying to him. "Mow, a few pointers about kicking a football". The
person walking with Charlie browr was Tom Landry. Political cartoons stay on the pulse of the current affairs
and in doing so try to draw the attention of their audience of the topic and nudges them to take some kind of
actiorl. Soif you want to know about how a segrment of America feels turn to their editorials and read the
political Cartoons.

Sub questions

Question Number : 156 Question Id : 5459275813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Zhoose a word which means the same as poignant
Options:

1. ® Cheerful



2. ¥ Disturbing
= % wonderful
4 % Blunt

Question Number : 157 Question Id : 5459275814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staterments is not true?

Options:
1. ¥ American political cartoons never make fun of the politicians
2. % Politicians are the subject of newspaper editorials page cartoon

% % In order to understand the feelings of Americans towards their politicians, one rneeds to read the
editorials,

4 # Political cartoons attract the attention of their readers.

Question Number : 158 Question 1d : 5459275815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following statements is false?

Options:

1. ¥ According to political cartoons, government officials are stupid.
2. ¥ It is not easy to target politicians because they are very powerful.
%, % Political cartoons keep a watch on the dav to day events.

4, % No option is correct

Question Number : 159 Question Id : 5459275816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is true?

Options:
1. % Ppolitical cartoons often portray government officials as incapable or plain stupid
2. % Political cartoons stay on the pulse of current affairs

=. ¥ Political cartoons often portray government officials as incapable or plain stupid and Political cartoons
stay on the pulse of current affairs

4. % Mo option is correct

Question Number : 160 Question Id : 5459275817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage how people with reverence are portrayed through a cartoon’

Options:

1. ® These types of people do not get any mention in the cartoons

2. % 4 tribute through obituary is paid

Z. ¥ With the help of a poignant cartoon, the cartoonist tries to pay homage to the estesmed personality

4. % Such people are mentioned only in editorials
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Question Number : 161 Question Id : 5459275818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaT T STeg © FWET] @ = F AT

SR EIGE
Options:
1. % 41
2. % g
%8
4 ¥ &g

Question Number : 161 Question Id : 5459275818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 sreg # SwRt @ = HFE

= EEILE
Options:
1. % a1
2. % AT
=% ad



4 ¥ arg

Question Number : 162 Question Id : 5459275819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ta T sreg w7 EiE e Fram
BEET

Options:

1.9 77 + F
2 % my+dwg
3% AT+ 79
4 ¥ qf + 7y

Question Number : 162 Question Id : 5459275819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam T Sreg T A1 E Frem

B REE)

Options:

1. ¥ a7 + ugm
o % OF+dwg
2% Od+ T

4 ¥ g 4w

Question Number : 163 Question Id : 5459275820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Jeg § ¥ B9 A7 98 Iog TR 57
Options:

1. % g

2 % gig

3. % T

4. ¥ geq

Question Number : 163 Question Id : 5459275820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRTET qog § & 3 a1 T8 58 151 27
Options:

1. % dfg

o % g
. % ZEr
4 ¥ gET

Question Number : 164 Question Id : 5459275821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
FaimET # & & AT ISR d o T F 51 57




Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Optilons:

1. Ao B TR Held T

2. RIfEar 3= U W &9 e

3. w2, G R gl A

4. T G =T T

Question Number : 164 Question Id : 5459275821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt # & 1 AT I 10T Gl et fopam w7 gt 87

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Opti.ons:

1. A O TR Gl T

2. IE4T 359 UZ W &8 T2

2. =TT, FHET G e A

4 AT | It M

Question Number : 165 Question Id : 5459275822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T ETe | T AT T e TR @ i A

A« el AT e
Options:

1. % ghomEeEes

2. ¥ HEgEaEE

3. ¥ TEREE

4. ® greATE

Question Number : 165 Question 1d : 5459275822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T aTer | ST AT 1o v T @ e A

e = BT ATelT e
Options:

1. ¥ ghomaees

2. % FEaaEE

3. ¥ TUETEE

4. % [T

Question Number : 166 Question Id : 5459275823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieiET & & @ A7 auHRE Jeg T Y BT I4E00 o7
Options:

1. % gag - 9



2. % g9-39
S ¥ AW - diT
4 % I - HaE

Question Number : 166 Question Id : 5459275823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaieiET & & @ A7 auHRE Jeg T Y BT I4E00 o7

Options:

1. % gag - 4
2 * gE-3™
3. ¥ AR - T
4. % e -weTd

Question Number : 167 Question 1d : 5459275824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % afeHa
2. % TCATET
3. % aerRardT
4 ® yreHwrd

Question Number : 167 Question Id : 5459275824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % acHay
2. % SITCHTAT
3. % arerAdrdT
4 % FEAETE

Question Number : 168 Question Id : 5459275825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TERET § ¥ aaERE geg & 0 I a1 a7
Options:

1. ¥ er-Tig

2. % THT - WY

3 % -2

4 ® g -ofT

Question Number : 168 Question Id : 5459275825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3 % oo
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Question Number : 169 Question Id : 5459275826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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SIEED

Options:

1. ¥ areaTiches
2 % dfFw

3 % dfew

4 ® Adw

Question Number : 169 Question Id : 5459275826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T sreg @ TEE aeg A diR

Options:
1. & ameicha

2 % Odw
3. ® dfEw
4 % AFw

Question Number : 170 Question Id : 5459275827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
oo my e F BT IR aeg w1 T e

[EGEARICERE TR Ea
Options:

1. % sme

2. % aFue

3. ¥ e

4, ® qUe

Question Number : 170 Question Id : 5459275827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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ForearT uTe = Tepam = T
Options:



1. % ame
=z % aEUH
3. v e
4. % que

Question Number : 171 Question Id : 5459275828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fau My St # & g e BT = HR
Options:

1. % g

2. % ot

3. ¢ @qof

4 ® o

Question Number : 171 Question Id : 5459275828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tar T el # ¥ g e T S
Options:

1. % g

2 % wqof

3. ¢ gt

4 % Fm

Question Number : 172 Question 1d : 5459275829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o0 0 Aleg TeFeer TRITSaT=IT & AT =i
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Options:

1. % geEd

2. ¥ TgAwg

3. % e

4 % g

Question Number : 172 Question Id : 5459275829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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3. ® e
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Question Number : 173 Question Id : 5459275830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 173 Question 1d : 5459275830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % wmr - gmw
2 % Fe - maT
3 % QT -
4. ¥ THT - AT

Question Number : 174 Question Id : 5459275831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 174 Question Id : 5459275831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 175 Question Id : 5459275832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 5459275832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 5459275833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4. ® AT

Question Number : 176 Question Id : 5459275833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gu
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4. % yriaArr

Question Number : 177 Question Id : 5459275834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question 1d : 5459275834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 5459275836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 5459275839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ET § & &9 a7 IeTE eeeaTHE wy @ T5l Y

Options:

1 % Fopara s A 2
2. % T ST &

2 ® fopdre BT o7 o
4 ¢ BT & A

Question Number : 182 Question Id : 5459275839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section 1d: 545927348
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Question Id : 5459275853 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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